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Problem

After the Vybegallo’s “ideal consumer” incident in the Scientific Research Institute for

Thaumaturgy and Spellcraft, an automatic security system is being put into operation urgently. It
is to guarantee that in any case the total hyperfield intensity won’t exceed a critical value. They
pin hopes on Sasha Privalov and his Aldan machine to automagically process readings of
sensors that are located all over the Institute.

All the sensors are numbered with integers ranging from 1 to N (1 < N < 10000). The reading of
ith hyperfield intensity sensor is integer k; (-10000 < k; < 10000). Aldan is to process quickly
gueries like "What is the sum of intensities read from the sensors with numbers fromitoj (i <j)?

The number of queries Q is expected to be rather large (0 < Q < 100000).



Input

The first input line contains integer N. The following N lines contain k; numbers (one at a line).

Then there are the integer Q and Q pairs of numbers i, j (each pair is in a separate line).




Output

Should contain Q lines with the sums of the corresponding intensity sensors readings.




Problem Solution

rt sys

N int(sys.stdin.readline())

s = [0] * 20000

range(1,N+1):
a = int(sys.stdin.readline())
s[i] = s[i-1] + a

int(sys.stdin.readline())

3 range(0,Q):

1,x = sys.stdin.readline().split()
|

X

int(l)
= int(x)

print(s[x] -




Problem Analysis

port sys For this problem | used simple loop
N = int(sys.stdin.readline()) to compute the answer. First the
s = [@] * 20000

s[e] = o input was taken (line 3). From line 7-

9, it takes the input value for the
i range(1,N+1):
a = int(sys.stdin.readline())

s[i] = s[i-1] + a takes another input Q which

sensors and store it in array s. Line 11

int(sys.stdin.readline()) indicates how many pairs of intensity

will be taken. Line 12-17 takes the
range(0,Q):
x = sys.stdin.readline().split() pair of intensity, split it, convert it to

= t El; integer and then computes the sum
= 1NT(X

print(s[x] - s[1-1]) of corresponding intensities

]
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|
X




Test Case
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:VADATermProject>python intervals.|
D:VADATermProject»>pyth
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